£ 6 1 ORFEPERAERZIBHXTES
R WMEBXPEREBASHARIERRAS

2022/7/3

LFBEARS REMESHERAN—YP—7F
(R K & FRE S5 D57 IIg > g MR

1 MR DHS MERE 3 14.200 7 12.800 4 27.000

2 AW x0ex RERED 2 14.000 2 12850 3 26.850

3 W FR =k 3 13.150 4 13.150 2 26.300

4 OB M FPELWB 2 13.250 3 12550 5 25.800

5 MK 533 RHBX 3 12150 7 13.350 7 25.500

6 B 1E =k 2 13.100 5 12.250 6 25.350

A=) IS 3 13.100 5 11.550 8 24650

8 EO0 Inlk FPELWB 3 11800 70 11.700 7 23.500

9 kB BR FPELWB 2 11.850 9 10200 712 22050

10 AW B= =0 3 11.900 8 9900 1713 21.800

11 B #He PELWLB 2 10850 77 10400 77 21.250

11 W R& RHBX 3 10450 72 10800 710 21.250

13 &Il &% PELWLB 2 10050 1713 10.850 9 20.900

14 8 1L PELWLB 1 7600 74 7400 74 15.000



26 1 ORFEPIREABEASIHEHMXTES

R WMEBXPEREBEASHARERRAS

2022/7/3

BeRIv>T REMESHERAN—YP—7F
(R K & FRE PH D1 D2 DR ABR EGR ER S

1 R DOHS MERE 3 23 11 340 595 575 090 14200

2 AW 00X REFREL 2 30 11 410 495 495 14.000

3 GOl IME PELUWB 2 24 09 330 480 515 13.250

4 SW FR =% 3 20 11 310 525 480 13.150

5 2k 16 8% 3 23 08 310 485 515 13.100

5 8K E =k 2 17 11 280 520 510 13.100

7T WK 533 REBXK 3 25 11 360 490 365 12150

8 AW BE = 3 17 08 250 460 480 11.900

O /B BR PELUWB 2 16 08 240 430 515 11.850
10 €O Iwik PELUWB 3 22 04 260 495 425 11.800
11 Bd #we PELUB 2 17 09 260 435 390 10.850
12 W 85& REBX 3 14 06 200 435 410 10450
13 &Il XL PELUB 2 18 O7 250 425 330 10.050
14 O b PELUB 1 00 03 030 390 340 7.600



26 1 ORFEPIREBEASIHEHMXTES

R WMEBXPEREEASHRIERRAS

2022/7/3

BaRIURY REHESMEGRAN—YPU—7F
(=R K & RS 2F D1 D2 DR ABR EBR HER S

1 WX 533 REBX 3 23 04 270 525 5400 13.350

2 s FR =% 3 20 10 300 515 5000 13.150

3 AW 00k REFRED 2 19 08 270 525 4900 12.850

4 IR DOHS MERE 3 20 O/ 270 515 4950 12.800

5 Ol IME PELUWB 2 23 05 280 455 5200 12550

6 B E =k 2 15 09 240 485 5000 12.250

7 EO Inik PELUWB 3 23 06 290 500 3800 11.700

8 Zik 16 8% 3 17 08 250 450 4550 11.550

9 Il FFE PELUWB 2 20 05 250 435 4000 10.850
10 W R5Z REBX 3 16 04 200 420 4600 10.800
11 Bd #e PELUB 2 13 03 160 445 4350 10400
12 /B R PELUB 2 09 03 120 445 4550 10.200
13 AW BE =R 3 10 05 150 415 4250 9.900
14 O b PELUB 1 00 00O 000 380 3600 7.400



